r P"':/TOOS?_
E R L gy 78 S T Ao lal
u ——j

=22V
Ti=ic
to& pc::[ ,AE}C Ecge( /23 QERA(EO/‘{ neTre WAYY U/;r/b'rc,‘re C’/C/vA ATPYIA
+ T-Re = AR | 2 b= Z2 =
) RA+R2 ~  foozt+4oSL
Ry = &5 i ke
Rz = 1 oy S __EE% g Ur=T By
Un = 03 . FULL T P =70 A
(4 = 7 a . -
:1‘_._ s = Un UQ-PQ. - 02_24 - - 4/2/24 ____.m 7
Ril | [Re =2 = 5.5 -
S-= 0,1 tute 2 ,10 : 45%}:404(;,1 tuge <y BezAfe Pedbo NA-
%'2 4/613\/A Je| Re'= |R1+ Bz
= 4G
f = ¢ R4 = ﬁg_L —  OTNMoPHoST [IPRE XUYe
= Am S
le = 2t

K== 5?___60— — o ThoPHocT _APre Xtge

U=T-Re = T-(P1+Re) = T g(eﬁez) f’I(gw«@L
fr(€4*€’z) . —3 Z/og

—
= 4oV - fo U« qo y"q
£= T =

& v
= TGt " G4 AfAeiE AR i
~ 214'458_§ZL1—\
= U.’.Z I,Qg
2 ‘[*U -i—u —i = (L/z _| &Y
WT (f?, =2 4 I 415&-
= QA

U= Re ~ T (Pa+ P2+ +20) = 24 (/{osz»r 1S9+ 1¥2+ 5052)
{=02A- 2250 ={144Y

\35’” Rt = oo Sz R4 4 4 1 Ra + RA

Rz = 42 J_{‘C;%__ %o BL | B2 | RiPs

Re = 7 = x

Bl g R1R~ L doosL

BP il | SP
AL 1 4 4

Agt 100 401

/}oo.ﬂ: =

/rooE




Ra= 12 q

R=

= RA Asatl) i NeWwoRUTA BE&IA
,’22’; = Q/fz ‘_ZLL 9_4:}-——\ B _‘}__0 OTNPHY EA

Re =<

T Iv=ct 1 [ 7
Rezz 2= | IPx id

o— _}+—F -
Ra Rz2z

-

223 = E?_‘ 123 oo _le

e T 2Tl
Re = Ra+ Rez =Moo +C RS-
[Re =12 % < |




